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3000 769,203,090 700,340,401 68,862,689
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3200 117,982,201 107,157,079 10825122| 1,084,334]
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321B 43,327 0 43,327
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201 24,000 0 24,000
24,000 0 24,000{ 01
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< > (= 19,000)
450 * 20,000 9,000
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202 10,027 0 10,027
10,027 0 10,027|01
10,000 *9 *4 *g9 = 3,240




49,900 * 3 *2 *20 = 5.988
49,900 * 2 * 2 %4 = 799
203 5,200 5.200
3,000 3.000|03
- 3,000
2200 2200| 04
200,000 * 11 = 2.200
200 4,100 4,100
220 4,100 4,100
405 4,100 4,100
4,100 4,100| 01
(=4,100)
1,200,000 * 1 = 1,200
1,000,000 * 1 = 1,000
900,000 * 1 = 900
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